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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(ii1)
(iv)
(v)

(vi)
(vii)

(viii)

(ix)

61/4/1

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into five Sections - A, B, C, D and E.

In Section A - Questions no. 1 to 21 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B — Questions no. 22 to 27 are Short Answer (SA) type questions,
carrying 3 marks each. Answers to these questions should not exceed 60 to 80
words.

In Section C - Questions no. 28 to 30 are Long Answer (LA) type questions
carrying 8 marks each. Answers to these questions should not exceed 300 to
350 words.

In Section D - Questions no. 31 to 33 are Source-based questions with three
sub-questions of 4 marks each.

In Section E — Question no. 34 is Map-based question carrying 5 marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Banawali, an ancient site of Harappan culture, is located in which of the
following modern Indian state ?

(a)  Punjab (b) Haryana

(c) Himachal Pradesh (d)  Uttarakhand

Who among the following was the first Director General of Archaeological
Survey of India (ASI) ?

(a) R.E.M. Wheeler (b)  John Marshall

(c) Daya Ram Sahni (d) Alexander Cunningham

Identify the character of the Mahabharata for the following information :

J Was a nishad
o Considered Dronacharya as his Guru
o Gave his right thumb to Dronacharya as Guru dakshina

Options :
(a)  Ghatotkatch (b)  Eklavya
(c) Nakul (d) Sahdeva

3 P.T.O.



4. Tr=faRea 4 @ fore 35 veg Fg (W1 3ER) ?
“T0 ¥ 3o o7 gg & sAfa s i qre e B 1o gtk bt T g B |
(a) HEER (b) dHa
(¢ fTama (d) @Hg
5. ffafea wedl 8 @ g9madt T % SR | SH-A1 96 7 ?
(a) 98 T U@ shi AT o |
(b) 98 HETEAl T A9 U3 Tt o |
(c) % Gyrdl sl YfieH <ot off |
() 8 Fge Tt <6t gt ot |
6. dg o "ed # fAfifad oMl 4 ¥ S-9 Tdl & ?
()  §g ST Felcl o TER & 9 A |
(i) 38 H9 I ARGERT s IHE T T |
(ifi)  Sfiad o g It T I AT HIAT T |
(iv) 9g Afth 3R HR hl @R I8 T80 §:E 53T |

gl faehed &1 === i
(a) (1) 3R (ii) (b) (i) 3T (iii)
(¢ () AR (iv) @ (i) 3 (iv)
7. T=afafga 9 9 9 G 1 gEAUE w9 o1 2
(a) 3TN (b) hifeeT
() g o (d) Tospatieea
8. T I FE 11k |1Y FHleT T
Gl g1l
() (RRTT)
i. A 1. gH
i EILEEl 9. formaa
11i. hilgdehcel SHHFHIIN 3 AT
iv.  ST§1 WG 4. TR
%IWVC[ :
(a) i-1,ii—38,iii-2,iv—4 (b) i-2,ii—4,iii-1,iv—3
() i-8,ii—2,iii—4,iv-1 d i-4,ii—1,iii—3,iv-2
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4, Who among the following is believed to have spoken these words ?
“Be lamps unto yourselves as all of you must work out your own

liberation.”
(a) Mahavira (b) Buddha
(c) Sigala (d) Ananda

5. Which of the following statements is correct about Prabhavati Gupta ?
(a) She was a Gupta Queen.
(b)  She had no access to resources.
(c) She donated land to elites.
(d)  She was the daughter of Chandragupta II.

6. Which of the following statements are true regarding Buddha ?
(1) Buddha was the son of a chief of Sakya clan.
(ii)) He had a sheltered upbringing within the Sangha.
(iii) He was informed of the harsh realities of life.
(iv) He was deeply anguished when he saw an old man and a sick man.

Choose the correct option :

(a) (1) and (ii) (b)  (ii) and (iii)
(c) (1) and (iv) (d) (i) and (v)

7. Who among the following founded the Mauryan Empire ?
(a)  Ashoka (b) Kautilya
(c) Chandragupta Maurya (d)  Vikramaditya

8. Match List I with List II :

List 1 List I1
(Saints) (Traditions)
1. Andal 1. Sufi
1i. Basavanna 2. Lingayat
1ii. Karaikkal 3. Alvar
Ammaiyar
iv. Baba Farid 4. Nayanar
Options :
(a) 1-1,ii—3,ili—2,iv—4 (b) 1-2,ii—4,iii—-1,iv—-3
(c) 1—-3,ii—2,iii—4,iv-1 d i1-4,ii—1,iii—-3,iv—2
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11.

12.
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frefafaa w0t § 9 6 gdma | defad o ?

(@) &7 S qa

(b)  HTeRI Trel

()  3ATd SRarE
d) AA-foedt

I SR % a1 HEfdiad § 8 -8 %9 F8l § ?

(i) o8 Ush falohcden, QRIeh d9T SAaM™ehI o |

~

(i) G IS B 98 G hl qars H AT o |
(iii) 9% TSIHAR g T3rehig 1 Tarfohcaen &1 |
(iv) SR & o@ T § TR g |

et faeed =1 =9 IS

(a) (i), (i) 3N (ii) (b) (i), (iii) 3R (iv)

© (), (i) 3R (iv) d @), (i) 3R (v)

ik T < gfid i

Tl YA feh STl o MY W Teh Afeh-Aehmgt o or o W
ST & Qe 9 AnTies qmet 6 e oft |

(a)  SHAT SAGEAT (b) TAHSGH FaET

(¢) SIS el (d) IINEH e

fefeiiad sl SIeTshieg shifae 3 f=fdfea famedl & @ Tt fashew &1
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() Tl g/ gai dfeh HATS T TIH foram T o1 |

(i)  HUICAI o ISIET h ITHhI I GAA TR |
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(iv) BNEL 3T ot 4 fISRTR |mgTs 1 Tmoe Y |

gl fashed w1 =4 HifT
(@)  (@v), (1), (iid), (ii) (b)  Gv), (@), (i1), (iii)
(e (@v), (i), (i), (D) (d) Gv), (), (), (ii1)



9. Who among the following travellers belonged to Portugal ?
(a)  Ibn Battuta
(b)  Marco Polo
(c) Duarte Barbosa
(d)  Al-Biruni

10. Which of the following statements regarding Francois Bernier are
correct ?
(1) He was a doctor, philosopher and historian.
(ii)  He came to the Mughal Empire in search of opportunities.
(iii) He became physician to Prince Dara Shikoh.

(iv)  Bernier’s works were published in Spain.

Choose the correct option :

(a) (1), (i1) and (iii) (b) (i), (iii) and (iv)
(¢) (@), (iii) and (iv) (d (@), (1) and (iv)

11. Fill in the blank :
The Mughal administrative system had an apex, a military cum
bureaucratic apparatus which looked after civil and

military affairs.
(a) Iqta system (b) Mansabdari system

(c) Amara-nayaka system (d) Ijaredari system

12. Rearrange the following in chronological order and select the correct
option from the following :
(1) The Saluva military commanders were replaced by the Tuluvas.
(i1)  Rulers of Orissa were subdued by Krishnadeva Raya.
(iii) The Battle of Talikota routed out the Vijayanagara Empire.
(iv) Harihara and Bukka founded the Vijayanagara Empire.

Choose the correct option :
(@)  (@v), (1), (iib), (i1) ()  Gv), (), (1), (11)
(e (@), (iid), (id), (1) (d  Gv), (1), (1), (iii)

61/4/1 7 P.T.O.
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fefcTRad o ¥ fore T W Jever dfct & @ ?

(a) SN (b) SR
(c) TooR (d) TSR

= g e fCu U g, SAfReH (A) 3R R (R) | fFefafgd i eam g

gfeu R w&l faehey &1 === hifv .

STYHYT (A) : HidTgd! IR TFgd] IATeE! o PV I8 I GHSH b T gHT
&I GId 3T T 37Had U9 8 |

FRU(R):  Wdl, U <hl M@ 3T TSF a7 STHIER o o= & [=Zdi & fog
ST g0 fohu 70 SSITH ohT SR@T-SIRgT 39 U9 § gt 8 U
fopam |

(a) AMMHAT (A) 3T SR (R) ST T&l & W SR (R), AR (A) I
g ST LAl 2 |

(b)  SANTHAA (A) 3T HRU (R) THI T&l &, T BRI (R), AMMHeH (A) &
gl AR gt il g |

(c) AR (A) HEl B, T RN (R) TAd 7 |

d) frpEE (A) a8, T SRV (R) T 2 |

1857 & Tagrg & e A=fafigd ° & faocil =1 due &9 o1 2

(a) TorfSE #g
(b) 3T

(c)  BIgl IR
d) wrE R



13.

14.

15.

61/4/1

In which of the following places is the Brihadishvara temple situated ?
(a)  Bijapur (b)  Belur

(c) Vijayanagara (d) Thanjavur

Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) : Our major source to know agrarian history of 16t and

17th centuries is the chronicle known as Ain-i-Akbari.

Reason (R): This text meticulously recorded the arrangements made
by the state to ensure cultivation, collect revenue and

relations between state and zamindars.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Who among the following was the Emperor at Delhi during the 1857
Revolt ?

(a)  Birjis Qadr
(b)  Aurangzeb
(c) Bahadur Shah

(d)  Farukh Siyar

9 P.T.O.
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Gl Gl

(27 (Ge-gae])
i. grad fdre 1. et g
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& faseq &1 ==[ i .

(a) 1-2,11—-1,1i-3,iv—4
(b) i-3,ii—-2,iii—1,iv—4
() 1-1,11—-4,11i—-2,iv—3
d i-4,ii-3,iii—1,iv—2

o o

17. Trfafad & @ fopeent ST 3 3191 TsHTaeh & THT ?
(a)  QETE TRISH
(b)  ATAT AT T
(c)  TIIUTA ST M@
(d) =T TR feieren

18. fr=fefaa =1 smerg il
()  TEASh 1 STHEAN STdeH W IAEH
(i)  TEASH <1 W gauE
(iii) TITERST o1 TR TR
(iv) TS w1 SR fowg faafaarer 4wy
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(a) (@), (v), (3), (ii)
(b)  (ii), (), (iv), (11)
(c) (1), (i1), (iii), (iv)
(d)  (@aw), (ib), (i), @)
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16.

17.

18.
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Match the following events :

1.

1i1.

1v.

List1
(Event)

Fifth Report

Deccan Riot
Commission

Damin-i-koh

American Civil War

Choose the correct option :

4.

List I1

(Correlation)

Zamindari system

Santhal’s land

Cotton boom

Ryotwari system

Who among the following was considered as a political mentor by

(a) 1—-2,ii—1,iii—-3,iv—4
(b) 1i-3,ii—-2,iii—1,iv—4
(¢) 1-1,ii—4,iii—2,iv—3
d i1-4,ii-3,iii—1,iv—2
Gandhiji ?

(a)  Dadabhai Naoroji

(b)  Lala Lajpat Rai

(c) Gopal Krishna Gokhale
(d)  Bal Gangadhar Tilak

Arrange the following in sequence :

(1)
(i1)
(iii)

(iv)

Gandhiji’s call for Non-Cooperation
Gandhiji’s Kheda Satyagraha
Gandhiji’s Champaran Satyagraha

Gandhiji’s speech in Banaras Hindu University

Choose the correct option :

(a)
(b)
(c)
(d)

(1), (iv), (1), (i11)
(iii), (1), (iv), (ii)
(1), (id), (iid), (iv)
(iv), (iii), (i1), (1)

11
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19. f=fafRea 8 9 ardia gfaam i yey gfufa & s1eag 41 9 2

(a) h.UH. g0

(b) S T

(c) 13N, TAEH
(d) TET. gEsit

20. fr=faRga # @ form v i iefsh 3 wsd v 1 @St e & fow oo fean 2
(a) Tt

(b)  TEgearl
(c) H&Hd
d) 3
21. 1857 % fogig ® FfaRad ® ¥ fred o1, @R @ e foha 2
(a) @T?l'{ﬁ:l?
(b) AT HTgs
(c)  dTcam dmY
(d)  =M8 HA
Qs @
(Tg-3THIT TR & T9) 6x3=18
22. TSWI % GAT % hrg W AEGl < & =i 1 9ui it | 3
23. (%) 31 Y9 YW HEEIeE HI P favd 3hie™ # T Hew@qol A8 w1 A
AT B 2 T i | 3
reran

(@) Tg Dl 3W I H GaH IHERNCA 3187 1 AHT SI1aT 8 2 Tq¢ hifore | 3

24, “TaoTR & T 1 I foewer 3 grred! o didAfen & stfcaca @ 9@
o7 |” I I =FFETT 3gUST | 3
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19. Who among the following served as Chairman of the Drafting Committee
of the Indian Constitution ?

(a) K.M. Munshi
(b)  B.N.Rao

(c) B.R. Ambedkar
(d)  S.N. Mukherjee

20. Which one of the following languages was emphasized by Gandhiji for the
status of national language ?

(a)  Hindi
(b)  Hindustani
(c) Sanskrit
(d)  English
21. Who among the following assumed leadership of the Revolt of 1857 from
Arrah, Bihar ?
(a) Kunwar Singh
(b)  Nana Saheb
(c) Tatya Tope
(d)  Shah Mal

SECTION B
(Short Answer Type Questions) 6x3=18

22. Describe the distinct views of archaeologists on the Central authority of

Harappa. 3
23. (a) Why is the mid-first millennium BCE often considered as the
turning point in world history ? Explain. 3
OR

(b) Why was Buddha considered as one of the most influential teachers
of his time ? Explain. 3

24. “The very choice of the site of Vijayanagara was inspired by the existence
of the shrines of Virupaksha and Pampadevi.” Justify the statement. 3

61/4/1 13 P.T.O.
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29.

30.
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(%) WA &0 W §&1 oqal o fG=RI T HIWT | 3

srerat
(@) T ausd § a9 9 9H W TSehE W@IHed 6l TsT AT 39eh
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“ T TAE WA TIASAdT STEIAT shl Ush 3gEHIT Tt off |7 39 % 6l
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@ ug T
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AT

(@) “Sywerdid # a1 9 arelt fefaeareti oo & wwd #§ g W wgeE
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i =TT HIWT | 8
(%) T AP < o g AR fremedt St e Hiflv | 8
3T
(@) qhamg 6l qr=arstt R g i e Hifu | 8
(%) IASNEd! IaTecl o Id H SIAGR S7IE o UTHIO & H Teh qTehae Mfth
& T ? @ HIWT | 8
T
(@) STSNeEdl vrated @ 3ifam gueel § Sfiqr Toed T &1 Yae =1 T8
HL U@ 9 ? RO sl TG HIT | 8
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29.
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(a) Explain the views of Ibn Battuta on Indian cities. 3
OR

(b) Explain how Bernier found the crown ownership of land as being

harmful for both the state and its people in the Mughal Empire. 3

How did the Britishers suppress the Revolt of 1857 ? Explain with

examples. 3

““The Salt March’ was a notable event in the Indian freedom movement.”

Examine the statement. 3

SECTION C
(Long Answer Type Questions) 3Ix8=24

(a) “According to Brahmanical theory, only Kshatriyas could be kings
in the early states, however several other ruling lineages probably
had different origins.” Explain the statement with examples from

ancient India. 8

OR

(b) “Given the diversity of the sub-continent, there have been

populations in early states, whose social practices were not

influenced by the Brahmanical ideas.” Explain the statement. 8

(a) Explain the philosophy and teachings of Guru Nanak Dev. 8
OR

(b) Explain the beliefs and practices of Sufism. 8

(a) Examine how jotedars became a powerful figure in rural areas of

Bengal during the end of the 18th century. 8
OR
(b) Examine the causes for the failure of zamindars to pay the revenue
demand during the last decades of the 18t century. 8
15 P.T.O.
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Qug g
(- a9 ) 3x4=12

fgu 77T &1d sl eaHYaeh qfer 3 H= fgu T gl o I G
THTE o AR FT-FIT T hid A ?
TS o fofarur sl Teh 3791 foam T 2

ATHTSY o HEM ARG § § $© Al hl q@1@ IR q[
A9 1 M Hd 3 a1 6 e & g1 o1 | 39 yg@ T80 |
TR & foIU Big I a1et Ut & gEgR 1 et wd § arfes )
T W 9 T 9 & Tk | T8 el ReeiiE 1 e
HA & IR PRI % Hcdi & MNMIN WIE FH A S ¢d & | o
H TGS B &, I YW F g Tt HaEm o1 g w g @y
Bl Ahge, 9¢s, Bl 3T GAaeharan o oY et a 8 |

(31.1) WIS hid o ? 1
(31.2) Tieror stferepiicat <1 ftent mewaqel w=I off ? 1
(31.3) T I YuEh ffeht 1 THFH o fIC Aeerfis 1 gard foRm TR
3yt @ 2 2
fGu 77T &1d sl A qieT 3R = ST Tyl o I T
feram afeaat 1 sgAT-3TET

78 Tegeart Y @ H Tk @iitEd off R 3@ e 3 g
WM deX bl o9 a1 341 ik o6 389 38 399 gEur
Fr&T FH7 § AR TR

feged™  Sfeqal 31R Td, 318 TR & e, Th a9g H & aNH
ff 1 a8 3 59 ft Id 8 | 99 § A fhet o2 e & oIS
3 BIgH I Ad 8, A1 I I B $S 0 0@ B & [ 8¢ TGl
G IAehT B AHIRIE (BT |) T a1 8 | ol 3T, IR o Forell
S8 W 99T 91Ed & dl 378 UMl o U&d W@ied shl Sed Tal aidl
Hifh ITh! A B SN & 9T H I 8, 3R foh fagea™ 6l
JTETE SSAR 7, AN 3HSd Il 371d 8 | I Th UG AT H3AT 41 o
8 3% WA I IR @ F It T T8 B, @ h g
FgarEd H UTg ATl §, SO IR &, HAArSAT SA18 S 7, W IREHR
Teh TTTa A1 W& WSl Bl AT 2!
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31.

32.

61/4/1

SECTION D
(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that follow :

What the king’s officials did
Here is an excerpt from the account of Megasthenes :

Of the great officers of state, some ... superintend the rivers,
measure the land, as is done in Egypt, and inspect the sluices by which
water is let out from the main canals into their branches, so that every
one may have an equal supply of it. The same persons have charge also of
the huntsmen, and are entrusted with the powers of rewarding or
punishing them according to their deserts. They collect the taxes, and
superintend the occupations connected with land; as those of the
woodcutters, the carpenters, the blacksmiths, and the miners.

(31.1) Who was Megasthenes ? 1
(31.2) How were the roles of supervisory officers important ? 1

(31.3) How is Megasthenes’ description helpful in understanding the
administrative role of the king ? 2

Read the given source carefully and answer the questions that follow :

Peasants on the move

This was a feature of agrarian society which struck a keen
observer like Babur, the first Mughal emperor, forcefully enough
for him to write about it in the Babur Nama, his memoirs:

In Hindustan hamlets and villages, towns indeed, are
depopulated and set up in a moment! If the people of a large
town, one inhabited for years even, flee from it, they do it in such
a way that not a sign or trace of them remains in a day and a
half. On the other hand, if they fix their eyes on a place to settle,
they need not dig water courses because their crops are all rain-
grown, and as the population of Hindustan is unlimited it
swarms in. They make a tank or a well; they need not build
houses or set up walls . . . khas-grass abounds, wood is unlimited,
huts are made, and straightaway there is a village or a town!
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33.

61/4/1

(32.1) &7 157 F1 2 ?
(32.2) Toram Ut K SELAl Rl foRd TR B LT A 2
(32.3) iver quTel <t fafya fomiwarsti w1 ¥ose AT |

e ¢ Fra w1 eamgEe qigu i A= QU e g o 3 i

“Tn TUF TRA A ATA TGS
13 feHet, 1946 1 379 YfHg W § TATEATS 48% o I8 hal o :

M & # IR-9R J 9 Gia9™ g9¢ 37 W 8§ S U8 I HH B
ol & | g9 37 HE SHfEh! g o fmio <t gfsean s @ o @
2 STgf Tse-fetarett 9 e U dfaud @ fean St sa @R 9T, °%
& o oft STe THT qh I hl HAK W T 30 8 | 32 Th HEH
s Tt S 3T fay™ W i 2 | 39k Wy & B A9R 3§ "EH
ShIfd 3h1 TR JTT @ S 150 |1 98 T 3170 €99 W gs off | 991 39
fge |1 1 fo=am 1ar 8 S Tt o foie 3a4 an oy feq 9l
UNE % We¥ W9 Ged Wi § 9l off | 39 "Wfogm |wr 4 feaHt
HIThell T AT TohaT o7 7R foh T8 TN 9 T0M 31 STl 38
Ted B U1 89 @ 9 | 3fg@ o 3 AR e Siey gg AE A1 @ 8 |
e 39 91 i AE W foh 9 39 dE i givchad M8 R I9 3|
gfga™ auret & T ueh S a6 T8 fean S @1 or @ 38H fa &+
ol AW ° |ur 61 oft 3w 3y ot off g efm =i i sud’ %
I € SHT ST g | 37aiH TSl 9 3T d1hdl ohl Fehlaci o STESg
T Sk AR W AR q9 I F&l A T8 B J9 I I AU
M G0 81 R o o | g3t favare g o gm0 ot 38 3g wiam 9 I@l
Thedl BT 2 3 1R B Ao 39 e W & A1 HE MR, W wal A
B A1 IR H, BAR ddh dd doh SIRI &7l 5™ deh gH 9T ¥ qU

T T AT |

(33.1) T8¢ H *8® S 4 fohg shifd o1 oo foham 8 2
(33.2) Jg& g e Gieu™ & o5 it w1 SR femam T 2
(33.3) H® =hid hl Uy A7 off ?
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33.

61/4/1

(32.1)
(32.2)
(32.3)

What is Babur Nama ?
How did the peasants meet the needs of water ?

Explain the distinctive features of agrarian society.

Read the given source carefully and answer the questions that follow :

“We are not going just to copy”

This is what Jawaharlal Nehru said in his famous speech of
13 December, 1946 :

My mind goes back to the various Constituent Assemblies that
have gone before and of what took place at the making of the
great American nation when the fathers of that nation met and
fashioned out a Constitution which has stood the test of so many
years, more than a century and a half, and of the great nation
which has resulted, which has been built up on the basis of that
Constitution. My mind goes back to that mighty revolution which
took place also over 150 years ago and to that Constituent
Assembly that met in that gracious and lovely city of Paris which
has fought so many battles for freedom, to the difficulties that
the Constituent Assembly had and to how the King and other
authorities came in its way, and still it continued. The House will
remember that when these difficulties came and even the room
for a meeting was denied to the then Constituent Assembly, they
betook themselves to an open tennis court and met there and
took the oath, which is called the Oath of the Tennis Court, that
they continued meeting in spite of Kings, in spite of the others,
and did not disperse till they had finished the task they had
undertaken. Well, I trust that it is in the solemn spirit that we
too are meeting here and that we, too, whether we meet in this
chamber or other chambers, or in the fields or in the
market-place, will go on meeting and continue our work till we
have finished it.

(33.1) Which was the revolution discussed by Nehru in the passage ?

(33.2) Which qualities of the American Constitution are highlighted by
Nehru ?

(33.3) What was the ‘Oath of the Tennis Court’ ?

19 P.T.O.
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Qs &

(wmAfer-snenfa aw ) 5
34. (34.1) WWA o [T MU TSHITah WI-AEREE (56 23 W) #, F=faked =t
3T Tosl & sifera Shifste @it 3k 9 fafem - 3x1=3

(i) RIS — Ueh {oehiYd ST JUEAA
(i) HEd — T HEEYU dlg T
(i) (F) IO — st o 3efiT &
HYAT
(i) (@) IR —FWCE T % AT hH TG
(34.2) WA o 3ET ToHIfdeh WET-AFRS W Q1 T &l A 3T B & 3ifera fepa
TR, S 1857 W STUSH & M & O GAfUd & | 3Bl Y= R

39k Gal I8 3k Hene Ei=ht T8 T@rsti W fefgu | 2
Fie:  [HEIIET I $acl gleaTiaa ghigniael & 1070 9. &, 34 & T W E
(34.1) Tre 4 foreft foepfira ggoun queerat &1 Am foiflaw | 1
(34.2) <feqor G o TRt e g T o1 9W ffay | 1
(34.3) (%) TR o 6 Tatu 1 9m fafEu | 1
Jrera

(34.3) (@) T TS hl Tohell Teh UL TR w1 1 Ty | 1
(34.4) 1857 T 3T o e Tohgdl Q TUMT 1 THIcor@ il | 2
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SECTION E
(Map-Based Question) 5

34. (34.1) On the given political outline map of India (on page 23), locate and
label the following with appropriate symbols : 3x1=3

(1) Kalibangan — a mature Harrapan site
(ii)  Bharhut — an important Buddhist site
(iii) (a) Ajmer — a territory under Akbar

OR
(iii) (b)  Vijayanagara — Capital of Krishanadeva Raya’s empire

(34.2) On the same political outline map of India’ two places related to
British control in 1857 are marked as A and B. Identify them and

write their names on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 34 :

(34.1) Name any mature Harappan site in Rajasthan. 1

(34.2) Mention any one Buddhist site in Southern India. 1

(34.3) (a) Name the capital of Vijayanagara Empire. 1
OR

(34.3) (b) Name any one capital city of the Mughal Empire. 1

(34.4) Mention any two places which were under the control of the
British in 1857. 2
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